pi eces-rechanges-chaudi eres. fr

CHAPPEE)

BRULEURS FIOUL
CF4

CHAPPEE

Page 1/6




pi eces-rechanges-chaudi eres. fr

BRULEURS FIOUL

CHAPPEE) cra

Réf. |Reférence [Descripon | Qie | [Remarques
1 S

0 S$58086974 KIT TETE & RECHAUF.SERIE 02 F4

0 S58083898 KIT RECHAUFFEUR CICH 1
-1 S58347985 LIGNE NUE RECHAUFFEUR 65W 1
-1 S58347984 RECHAUFFEUR DANFOSS 30N1229 1
1B S50039005 ENS.BOITE A AIR + VIS 4KG 1
4A  S58209851 CONDENSATEUR 5 MF 1
4A  S58209858 CONDENSATEUR 3MF (AEG)+ECROUS 1
8 S50039010 VOLET D'AIR CPLT 4KG 1
11A  S58083188 CABLE RACCORD TRANSFORMATEUR 52L1050 1
13 S50039012 ELECTRODE CPLT 4/7/12KG.BLIBOX 40 1
16 S50039013 EMBASE + VIS 4/7/12KG 1
20 S58390081 JOINT C.C SILICATE 4KG *99908690* 1
31 S50039017 CAPOT ROUGE + VIS 4KG (FIOUL) 1
31C S58927882 ENJOLIVEUR CF4.R 1
37 S50039024 ENS.ECROUS 4KG 1
50 S58409930 ACCOUPLEMENT AEG 881 SAM4 1
50 S58409931 ACCOUPLEMENT SIMEL V1350 1
51 S58329094 POMPE UNI2.2L1L14 D32 EV220 1
52 S58086999 SACHET VISSERIE P POMPE 4/7/12KG 1

55  S§58716657 TUBE REFOUL POMPE COUGAR F4-02

56  S58329118 EV.TYP.V220V50HZ CDE0580/1070

86  S50039029 RECHAUFFEUR CPLT 4KG 1
86C S58179937 BOUTON DE REGLAGE 1

91  S58083252 STABILISATEUR 6 FENTES 4 KG 1

21/6



pi eces-rechanges-chaudi eres. fr

BRULEURS FIOUL
CF4

CHAPPEE)

95  S57805798 CELLULE 8209

115  S58253287 BOUCHON PASSE FILS HT

250 S50039031 ENS.CONNECTEURS M/F 4/7/12KG

CHAPPEE Page 3 /6



pi eces-rechanges-chaudi eres. fr

BRULEURS FIOUL

CHAPPEE)
CF4

Réchauffeur DANFOSS |

86H

1370 BRULEUR CF4/CF4"R" (MOD.93)

CHAPPEE Page 4 /6



pi eces-rechanges-chaudi eres. fr

BRULEURS FIOUL
CHAPPEE
CF4
Ref I
()
1A S58254059 DEMI VOLUTE AVANT 1 #
()
4 S58209862 MOTEUR 235 NDS 85W SMEN 1 ﬂ
()
4 S58209863 MOTEUR EB 95C 28/2 AEG  (anc.lib:MOTEUR EB 95 1
4A S58209851 CONDENSATEUR 5 MF 1
4A  S58209858 CONDENSATEUR 3MF (AEG)+ECROUS 1
6 S58409921 TURBINE 108X34 M4 COUGAR 1
8A  S58808196 ECROU HM M6 PLASTIQUE 1
1 S58504222 TRANSFO ZM20/10 ENR 4022711 (anc.lib:zM20/10 1
11A S58083188 CABLE RACCORD TRANSFORMATEUR 52L1050 1
13 S58528424 BLOC D'ELECTRODES FIOUL 1
16 S58537111 SOCLE S 401 1
22 S58169639 TUYERE COUGAR F4-02 1
31A  S58808205 VIS CL M6X20 1
31C S58927873 ENJOLIVEUR CF4 1
37 S58808250 ECROU DROIT 1
37A S58808093 ECROU GAUCHE 1
40A S58371301 JOINT TORIQUE PB.701 P/F4 1
50 S58409930 ACCOUPLEMENT AEG 881 SAM4 1

o swows  ccomeeNTuoTERSUEN 1 Q
()
s swwow  powewweanwomezo 1 Q)
()
()

1
1

5 §58329127 POMPE MS21 L3 ROT.G. 220V 1

52  S58362011 EMBOUT M.1/4-1/4 G/ICONI.LAIT. 1
53 S58366612 FLEXIBLE + RACCORD (x1) 1
Fat
)
53A S58371304 MANCHON 3/8"-3/8" CONIQUE 1 ﬁ

CHAPPEE Page 5/ 6



pi eces-rechanges-chaudi eres. fr

BRULEURS FIOUL

GHAPPEE) cra

54 S58370991 EMBOUT DOUBLE 1
55 S58716657 TUBE REFOUL POMPE COUGAR F4-02 1
56 S50036625 BOBINE POMPE MS 071G003100 1
56 S58329138 BOBINE EV.071N0051 220V 50HZ 1
56A S58329133 CABLE POMPE V1 LG.630 071G0208 1
86 S58083138 LIGNE GICLEUR NUE COUGAR F4-02 1
86 S58084011 LIGNE GICLEUR NUE 4KG 1
86 S58347984 RECHAUFFEUR DANFOSS 30N1229 1
86B S58333410 RESSORT DE RAPPEL 1
86D S58808156 ECROU NYLSTOP M8X100-T06 1220 1
91 S58083252 STABILISATEUR 6 FENTES 4 KG 1
95 S57805798 CELLULE 8209 1
115  S58253287 BOUCHON PASSE FILS HT 1
250 S58589873 CONNECTEUR F.NOIR (9303132/53) 1
251 S58589864 CONNECT.M.NOIR 9303233/53 F/G4 1
253 S58589933 ETRIER + BRIDE 1

CHAPPEE Page 6 /6



